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(3) Question No. (1) to (4) are very short answer type questions. Each question
carries 1 mark.
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(5) Question No. (13) to (23) carry 4 marks each.
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(6) Question No. 24 to 29 carries 6 marks.
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(6) Question No. 24 to 29 carries 6 marks.
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if matrix A = [_1 1 _11] and A% = mA then find the value of m
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Find the value of x, y, and z so that the vectors & = xi + 2j + zk and b=2i+ yj+ k are

equal.



(S)Uﬁ{sin(sin_1§+cos_1x)=1,%‘aﬁxzb‘rﬂﬁaﬁa?ﬁ?ﬂl
If sin(sin‘1%+cos‘1x):lthenﬁndthevalue of x.
2 4 12x 4
(6) x BT A FMT HITQ TS |5 = |6 x|
. ~12 4 _ 12x 4
Fmdthevalueofxlf|5 1= |6 x|

1—x2
14+x2

(T)y:cos"l( )0<x<1av—rxzmwﬁaemv—oﬁ§n—craﬁﬁ(r|

1-x2

1+x2) with respect to x where 0 <x <1

8) afe f:[-5,5] »R TS JaHeg Gad & R Iy f1(x)fpedh & fag w
o T B &, O Rag AR B A-5) 2 A5)

If f:[-5,5] =R is a differentable function and f1(x) does not vanish any
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From the differential equation representing the family of curves y = asin(x + b)
where a and b are arbitrary constants.
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Mother , father and son line up at random for a family picture.
E = son on one end

F = father in middle , then find P (%)
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Find the particular solution of thedifferenttial equation j—z + ycotx = 2x + x?*cotx(x +
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A man 1s known to speak truth 3 out of 4 Times. He throws a die and reports that it 1s a

six. Find the probability that 1t is actually a six. Do you agree that the value of truth
bulness leads to more respect in the society ?
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Show that of all the rectangles inscribed in a given fixed circle , the square has
the maximum area.
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find the mean number of heads in three tosses of a fair coin.
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Is *defined on the set {1,2,3,4,5} bya *b = LCMof aand b a binary operation
? justify your answer

e . (24) TP IMER AT §F ¥R & 9 xR y B 39 ¥R fHerr @wd € P
fasror # e A &) 39 9 39 10 996 @ B & 9 ¥ &9 12 79
3R faerffm C &1 8 A% 811 1 Kg #ioat & ferfamt ot #mn ffeiaa awoft

A TE T -
o faer®e g faerfe =t faerfa
x 1 2 3
2 2 1

Hﬁ@x%lKgiﬁTWRsmaﬁ?ﬂﬂWyEﬁ 1Kg &1 Hog Rs 20 2| aifod
3MER & ford MsT & —Aaw Teu o1 P | Iugad & T MEges WA
AT 91 IR U6 ERT 8 o Wi fell M fsmr &1 =Ead o 9
MY | 39 go7 # T qeat &7 S 2|

A dietician wishes to mix to gether two kinds of food x and v is such a way that the
mixture contains at least 10 units of vitamin A , 12 unites of vitamin B and 8
units of vitamin C, The vitamin contents of one kg food 1s given below :-

food Vitamin A Vitamin B Vitamin C
x 1 2 3
V 2 2 1




